MRFTHFRLIEH T — B F ALGR
M&RA IR BN ERERYR (T ER BERBER) SF4E12F1 BRI
No. ¥ _LESRE wHLE B | ue |MTEER) e
1E—F4 7T IESRE: X& EA 100 1 100
2|E% 1EF | 1& [RE #F 1,100 1 1,100
4|Z BV 2% | 2% &t <+ 5,500 1 5,500
5|fAE &t 2%F | 2% ERK HiE 1,000 1 1,000
UEgsHs 2% | 2& |sFhEf- [RA #E 20 1 20
8|k TOT Y A — 3E | 3F INE Rt 6,000 1 6,000
10/)¥h— &5 | 1F =R EFA 1,000 1 1,000
12(h5—FLE 1EF | 1& Ak =TT 11 1 11
15|/ — ks%y b IR RE: A WX 10 1 10
16[REA T B E 4R 2% | 2& EE —If 100 1 100
19| B XREEER 3& | 3& HH KF 100 1 100
22|15tE - IERAARY— 2% | 2& B T % 1 %
SFHEf- [RE FEH 10 1 10
23(/MKIEE Y b 15 | 1& Izl R 50 1 50
27| N A BB IRR 2% | 2% #H #HF 110 1 110
31| koF@hSHEERTLAS— Y b 15 | 1& #H #%Hh¥F 20 1 20
32| B A B 3% | om | il >0
Izl R 100 1 100
B — U EE 500 1 500
A AKX 220 1 220
34| RIK = 15 | 1& miE 5= 20 1 20
BMNDESLBRERE Y + 1% | 1& AR EX 260 2 520
6| 7A—T14A>D 3% | 3F RiR THE 800 1 800
37| F—AHR—F I RE: g 2= 20 1 20
B(Ta—TyynNkY 2% | 2% A AKX 300 1 300
9(NRFT L 2% | 1F& | 3% |AR&# oFE8E 3,300 1 3,300
0752 FET/ 2% | 2% | 4% |AREM Y ¥5388(250,000 1 250,000
MNR—F IR 2% | 2& %A WX 500 1 500
44| BRIV A FAR—F 2% | 2& miE 5= 20 1 20
45|19 CD 3F | 3& HIR BF 500 1 500
46| L DHZERDEEHE —K IR RE: ik 5= 20 1 20
4174 FF v A L 54 | 5% |E7/FEM &R F| 1,000 1 1,000
49|3%/\ R 2% | 2& X& EA 3,800 1 3,800
51[/AR 1) a—4&— 4 | 45 INR S 7,750 1 7,750
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M&RA IR BN ERERYR (T ER BERBER) SF4E12F1 BRI
No, 8% _LEERE BHLE B | ue |MTEER) e
52 \—E=—F 4 LY 5 — IESRE: g 5= 100 1 100
53DV DHERDODEFREE—K 1F | 15 mgE 5= 50 1 50
54|23 % bk 2% | 2% A WX 500 1 500
55| 7L b w o R 1% | 7% | 8% =E KT 11,000 1 11,000
S56|fEEEEAEES 15 | 1& %A WX 10 1 10
57|22\ 2% | 2% Izl HKi 50 1 50
58| kO VAR—Y 1% | 3% | 4% KiF —== 5,555 1 5,555

INR 300 1 300
solzm 4 o A WX 10 1 10
£k RN 10 3 30
X& EA 10 3 30
61|y 2% | 2& %A EX 2,500 1 2,500
62| 1—T+ =" L 1% | 2% | 3%& A AKX 1,000 1 1,000
64| 7O A A Ra—T 15 | 15& K& EA 3,100 1 3,100
66( AT k3L IR RE: A WX 10 1 10
684 /N1 > (H) 15 (15 X& BEA 10 1 10
69(% /N1 2 () 3& | 3& izl B 30 11 330
70| F—H—F 1% | 1& ek I 100 1 100
Al=%;] 15 | 15 | 2F |a&s 7HERBE| 4,500 1 4,500
) Kig —== 1,301 1 1,301
74| K5 LABF 6& | 6&
A AKX 400 1 400
IR Lty b 15 | 4% | 5& |G&Rt 7HERBE| 9,899 1 9,899
76| 7 )L— K 2% | 2% A AKX 100 1 100
77[Fa—N 1F | 15 | 28 |a&s 7HERBE| 2,020 1 2,020
18| kTR y K 1% | 458 | 5F |8&s 7YERBE| 2,020 1 2,020
19| KRZE 15 | 1& %A WX 3,000 1 3,000
80| RF—ILZvY =B 1%& | 3%& | 4& ERK HiE 500 1 500
81[VIR—{AEIDVDE T4 T L—¥— 15 | 1& BRE IEsE 500 1 500
82(CD - CDV - LD L—+— 15 | 1F | 2& gk 5= 300 1 3001 %2
salxuavr_ILe A SFHET- [RE #EH 330 1 330
=R &k 100 2 200
e px | g SFHhE!- [RE #4110 1 110
X& EA 30 2 60
86| FE & 2% | 2% INKR ST 3,500 1 3,500




MRFTHFRLIEH T — B F ALGR
MRE: IBERNPEREEYR (EER HELBER SH4E1281 5B
No. ¥ _LEERE wHLE B | ue |MTEER) e
1| EREHEE 2% | 2& X& EA 550 1 550
93| &AL 15 [ 15 X& EA 350 1 350
HES HHE8| 1,100 6 6,600
05|45 U #1251 2 B R Rk FHE 300 2 600
X& EA 250 4 1,000
§iI W 110 5 550
99| RHEF 1% | 2% | 3% |ARstt v9-F%H| 3,300 1 3,300
100| K& A —€)L (K) 2% | 2& miE 5= 50 1 50| %2
101| R84S —E)L () 3FE | 3FE LR R >0 1 30
miE 5= 50 1 50
IR R— 500 1 500
102(5h+t 5% | 5% X& EA 250 2 500
BRHE IESE 150 1 150
103|F L& 15 (15 X& EA 50 1 50
104 —T 143599 IR RE: IR — 20 1 20
INR T 350 3 1,050
105 ABAHT (BIHRHY) iz | om0 A ] - 1%
X& BEA 50 2 100
FE FEiIE 50 5 250
INR T 350 3 1,050
06| RMBET EEEL) | 1% |4 | sm o B e I >0
HRESH FHEE8| 110 6 660
ERK HiE 100 3 300
HIR BF 100 1 100
107(N=VER (\RfFE) 3% | 3&F #BH T 20| 10 200
X& EA 10/ 10 100
108[ A= VER (/ARAL) 3F | 3\ KB EA 10 34 340| %2
109|1E X AL 2% | 2% A8 BA 210 1 510
FE FiE 100 1 100
Izl R 100 5 500
10| LM TAUA 3% | 3F #H ¥ 50 1 50
AR BEX 10 1 10
12(2.8F (X) IR RE: 2F XMF 110 1 110
115(5.4%F (X) 15 [ 15 £F EMF 110 1 110
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J
Mg BRI PERERYR (EER BERHEER) SF4E128 1B BA4L
o AtLsmnE " &AL = | 2T ELE
No. nn% jﬁk 1@A §+ /@'*L% ﬁ%ﬁi ;&i (*ﬁ".ﬁg*) ﬁ%%
£H ¥ 100 1 100
18[MDESLLEERAE Y + 2% | 2%&
#BmAR A 50 1 50
MY ARI) UHE—D 1% | 1% g 5= 20 3 60
120| AR U 58—Q 1% | 1% IZBmE Kk 10 1 10
12| AR U H5—B 1% | 1% wzEm ®Hk 10 1 10
. i} nA 10 1 10
122 ARV U 5—@ 2% | 2%& o
WZBA i 10 1 10
X N 1 110 2 220
123|A R ) U5 —B) 2% | 2% " =ik
WZBA ®HAt 10 1 10
128| AR ) U5 —® 1% | 1%& wzEm ®it 10 1 10
. ARk —E 120 1 120
125X 22 1) L4 —@) 2% | 2% T TE
WZB@A HKi 10 1 10
126|FEREILTOD 3&F | 3& WZBA ®HAt 100 5 500
127|HEBEILITO 1% | 1#& Wzl ®it 50 1 50
128[FHEREL TR 2%E | 2& izl 100 1 100
. A BEX 260 2 520
129|FHEBRELTD 4% | 4% Ll
WZEA 100 4 400
130|EBREILTAHD 15 | 1% wzam ®it 30 2 60
. . A BEX 100 2 200
131|FHEBREILSHQ 3& | 3& Gl
WZBA ®i 30 7 210
- IZEHE R 10 5 50
132|HEBRED 2% | 2& B
aH BEF 10 12 120
WZEA 10 5 50
133|HEBEREQ 3F | 3F #H #HF 10 5 50
AR EX 10 12 120
. #AR %+ 20 5 100
134|HEBEQ 2% | 2%& id
wzam ®it 10 5 50
135\ E@D 15 | 1% wZEm ®it 10 5 50
. WZBHA i 10 5 50
136| 5B E®) 2% | 2% B
AfE EX 10 12 120
B} e BEA 10[ 20 200
137|3HEBRE® 2% | 2%
WZB@A i 10 5 50
B} e BEA 10[ 20 200
138|ERED 2% | 2%
WZB@A i 10 5 50
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No, 8% _LEERE BHLE B | ue |MTEER) e
139|(EAa (A Y 2% | 2% izl B 100 45 4,500
Izl HKi 100 5 500
140| LM TA YA R 5 3F | 3& #H ¥ 30 2 60
ZNE PN 10 2 20
142(= L EEREAR 2% | 2% BA #A > 1 >
X8 EA 10 5 50
BBIR R— 100 1 100
143| KR EIER 3& | 3& @A A 50 1 50
X& EA 10 2 20
144|121 L BER 2% | 2& #H #H¥ 20 1 20
145| SRR A o e L ] 1
X& EA 10 1 10[ X2
AR EX 100 1 100
146 |SEY = E &t 4% | 4% A AKX 10 1 10| %2
#H #HF 10 1 10
147|508 ER 2% | 2% #H #H¥ 30 1 30
149| KIS 4L E I E 27 IR RE: izl B 100 1 100
Izl R 2,000 3 6,000
150| WERER EFSMERER A (RN REE Eg i 1,500 1 1,500
22 XMF 1,100 1 1,100
151| EERIRE & B 15 | 1& miE 5= 20 1 20
152| EFEIZ #oH% 2% | 2% AR EX 100 1 100
. P SF EXMF 220 3 660
iR FA 50 1 50
ik FA 50 2 100
154|{m = & 1+ & i K ERCP 3% | 3F Izl R 50 4 200
X& EA 10 6 60
155| =Bk 15 [ 15 #H #H¥ 20 1 20
160|E—7#— (1000m|) 2% | 2% RH & 199 1 199
#H #H¥ 110 1 110
161|E—H— (300ml) IES IR HH KEF 10 2 20
162(=F 7> X2 (500ml) 2% | 2% MR & o 1 1o
gk 5= 10 1 10
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MRE: IBERNPEREEYR (EER HELBER SH4E1281 5B
No, 8% _LEERE BHLE B | ue |MTEER) e
Rk FHE 150 3 450
163[=A 735X (300ml) 3& | 3& AR EF 100 1 100
g 5= 10 1 10
165 =73 X2 (100ml) I RE: ZNE PN 10 3 30
166(FLEZ > X (2000ml) 15 | 1& izl B 80 1 80
170| ¥ —L (K) I RE: Izl HKi 10 2 20
17| ¥—L (#) 2% | 2& HH KF 10 3 30[ X2
#H #H¥ 30 4 120
172(> v —L () 3F | 3F ZEm K 10 2 20
;R FMA 10 1 10
173(A— b~ ($X) IR RE: izl ®ik 10 2 20
174(8— bk (X) 15 | 1& Izl R 10 2 20
175|0— b () IR RE: izl ®ik 10 2 20
176(@— bk (/1v) 15 | 1& Izl R 10 2 20
17N AR 2%& | 2& izl ®ik 250 4 1,000
178|%&0— k 15 | 1& Izl R 10 2 20
B Hit 50 3 150
179(7)a—-iLs>7 3F | 3& HH KF 10 5 50
X& EA 10 3 30
Izl R 50 3 150
180|7)La—IL5 U TR=/H 3&F | 3& EH KF 10 5 50
X& BEA 10 1 10
181|435 X 4% 1% | 1% =H KT 10 3 30
182|RREY (HX) 2% | 2& RH B 129 2 249
#£H ¥ 30 1 30
184|FEEY () 2%F | 2% BE T % ° 1%
IWZEA Kk 10[ 21 210
185|3FEE Y (/M) 2%& | 2% BE T 2 19 20
IWZEA Kk 10 4 40
#H #H¥ 40 6 240
186|=AEE > 3& | 3& A BEX 25 3 75
izl R 10 1 10
187|FE LEEHHG 2% | 2& IWZEA Hik 200 7 1,400
188|HSRTVIr—45— 15 | 1& izl R 300 1 300




MRFTHFRLIEH T — B F ALGR
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No, 8% _LEERE BHLE B | ue |MTEER) e
189 | BEMER 2% | 2% A& AKX 200 1 200
B [— g | o A R 250 1 250
A WX 10 1 10
192| BEEE 15 | 1& AHE Hit 250 1 250
AR FA 300 2 600
193 | BEER 6% | 6& Bk 51 275 1 275
izl B 250 1 250
194 | HI SR 85 15 | 1& izl B 250 1 250
196| K LIRS H R A 2% | 2% iR FA 50 1 50
197(85%) - &5 - LAEXR ISR RES X& EA 10 5 50
108 spim A pi | g KM EX 100 1 100
X& EA 10 7 70
199|555 L\D 1F5 | 1& ZEm Kk 10 1 10
200| 5% L@ 3% | 3& £l ¥ 50 1 50[ %2
209(HSRF ¥ RH— 4% | 4E HIlR EF 150 1 150
2107 ILE2HEYD 2% | 2% AR BX 2 1 2
izl B 10 1 10
201|7ILEHEYVQ 2% | 2% A BEX 25 1 25
213l A X& EA 130 2 260
hngE 5= 50 1 50
&t <+ 3,300 1 3,300
sl ks 7 B R Eik B1E 1,980 1 1,980
ik —E 1,200 1 1,200
£k R3EA 556 1 556
216|FE 15 | 1& X& EA 30 1 30
219|7—J L 1% | 3F | 4%& 2F EXMF 1,650 1 1,650
220(#7 Y 1= 1= H#HD 1% | 1E& $3 W 550 1 550
221|IY = 1= #HQ 2% | 2% & EA 530 2 1,060
223|481 1% | 1E& ZNE YN 150 1 150
224| EEEEIEMR 15 [ 15 AR BEX 320 1 320
225\/8YaAVTRY 2% | 2& il % 1 %
Ak =TT 14 1 14
2264 —T 1 AR — 1% | 4F | 5%& INE — 5,600 1 5,600
21| A—T 1 AHEE—K 3E | 3& INR — 3,600 1 3,600
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MRE: IBERNPEREEYR (EER HELBER SH4E1281 5B
No, 8% _LEERE BHLE B | ue |MTEER) e
28| TAIMfEE (X) 2% | 2% B T % ° 1o
X8 EA 10| 16 160
29| ITATIMESE () IS RE: #H #HF 20 5 100
230| K& ARy I R 7E | 1E %H EH 480 1 480
21BA—E 2% | 2% AS AA 1 1 1
£k RN 10 1 10
22(WEBEED 15 | 15& WZEA Kt 300 1 300
2B|MEEHEEQ 3% | 3F ILZEE Hi 600 1 600
234 HEF LR 2% | 2& izl ®ik 250 3 750
235|FHNBER AU 3E | 3& Izl Ei 600 1 600
236|/k—A—/\y 3% | 3F izl ®ik 200 1 200
237|EfHHEHE 2% | 2% Izl R 500 1 500
240|{EHR 3& | 3& T & 110 1 110
241|7EHR 3E | 3FE ZNE PN 100 1 100
242|7EHR 15 [ 15 A BEX 100 1 100
244|7EHR 15 (15 AR EX 100 1 100
2450,V a5y o@D 2% | 24 s IE4t 1,000 1 1,000
246832259 @ 1& 135 [BRai yoFx5| 3,300 1 3,300
rZYI VAW = D> RIR/J€) 1% | 15& ERK xig 300 1 300
248| 74 T ILINLs 15 (15 EHH KF 50 5 250
249|5R ZFOLY—JL 0% | 10% M 20 2 0
#H #H¥ 220 1 220
251| TR LIKEE 3& | 3& S #& 550 1 550
P e oz | 2% ERK K& 300 1 300
Ak ERWT 14 1 14
253| EMIEMY (2kg) 3FE | 3FE ERK HKiE 300 1 300
X& EA 250 1 250
ERK K& 200 1 200
254| EmMiEAMY (1kg) 5% | 5& AR A 200 1 200
Izl R 150 1 150
ik 5= 30 1 30
X& EA 250 1 250
255|EmiEmY (500g) 5% | 5%& #H ¥ 180 1 180
=R kX 100 2 200| %2
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No, 8% _LEERE BHLE B | ue |MTEER) e
256| R F— )L HULHA 2% | 2% Ak =TT 440 1 440
258| KT A A 6% | 6% Izl HKi 2,300 1 2,300
259| TEAN IS RE: g 5= 50 1 50
260| M 15 | 1& W FE 800 7 5,600
261|#hIkiE (K) 15 | 15& ERR xig 500 1 500
262(MuER{E (h) X2 UK 2% | 2& AR AW >0 1 >0
Tk B1F 11 1 11
K —E 560 1 560
AR BEX 350 1 350
263|HIkiE (P) BEE 5% | 5%& #]AR FA 100 1 100
#H #HF 50 1 50
miE 5= 50 2 100
264| Bk (/) & | 1F hngE 5 50 2 100
265|=ATEHR (KH) 15 | 15& #H #H¥ 110 2 220
#H #HF 110 2 220
266|=AEHR (FT5%) 4% | 4% R e 1 e
INFK — 12 3 36
Eik B1F 11 1 11
BRI FHE 100 1 100
267|EHR (KH) 4% | 4% #H #H¥ 60 1 60
IR — 30 3 90
268|HLDE L 2% | 2% BE T % 2 12
izl B 10 1 10
269| 7R (KEH) 15 [ 15 #H #H¥ 30 1 30
S H 110 1 110
20| ERR (T5%) 3% | 3& #H HF 60 1 60
K — 12 3 36
271|328 R (K& I RE: #H #H¥ 30 1 30
272|328 & (F7IL2) IR RE: #£H ¥ 110 1 110
B RAF—ILIvY K 15 [ 15 X& EA 70 2 140
24| EEZEEE 3% | 3F IWZEA Hik 1,200 1 1,200
275|3 wi =i 2z | 2% #H ¥ 120 2 240
INFK — 12 3 36
276| KB L3 15 [ 15 S H 330 1 330
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No, 8% _LEERE BHLE B | ue |MTEER) e
29|’ ILF T Ly H— 2% | 2% AR EF 800 1 800
280|7R— K 4% | 4E #H #H¥ 30| 10 300
281 | #E#E T IS RE: g 5= 100 1 100
282|ENHR 3%F | 3F MNE R 1,500 1 1,500
283|ZHIMT —R K 2% | 2% S H 330 1 330
284\ ZHIMT—R I 4%E | 4& aH KF 50 1 50| %2
285|#ERE Y /XL 4% | 45 #H #HF 110 5 550
286|452 74 JLEHT 6% | 6& 22 XMF 1,100 1 1,100
287| € AIEA (K) IR RE: INR SELE 560 1 560
X& EA 550, 10 5,500
N 550 8 4,400
B 1% | 12 SF EMF 550 4 2,200
PRE [E 530 4 2,120
ZNE PN 350 8 2,800
BIR R— 300 2 600
290| REUR#AR v U X 2% | 2% Izl R 100 1 100
294| K5 L 2% 2% |AR& 9¥E%El 2200 1 2,200
295|E7 / R#EF 15 | 4% | 5& |ARSH o9FEHF| 1,100 1 1,100
2993 ') v hILIKIE 15 | 1& AR EX 260 1 260
300|F/KEEL Y b KEEES 15 | 1& AR EX 25 6 150
301 |sE 8 A #H #HF 310 1 310
Izl R 250 1 250
305|BER 2% | 2% #H #HF 110 2 220
306|F v RE—fTEHEES VY 5% | 5% A8 BA 20 : 1499
ik 51 308 2 616
s <JF 1,100 1 1,100
%H EH 510 14 7,140
07| RAHAKF (RItR{TE) 15 [12% | 13%F HLARE Rt >0 ° 1999
N 330 5 1,650
HIR BF 300 6 1,800
£k B8 222 1 222
208|321 px | g SFHhE!- [FE #4220 1 220
X8 EA 150 1 150
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\

Mm4 BER/NERERY R (EER BHELESR) ST4E1281BEHL
o AtLsmnE o &AL = | 2T ELE
No. 2% LT EHE 25 | BB T mnas | BE
IR SERE 550 1 550
309 |4 3&F | 3F&
=R 3% 100 2 200
. . £H ¥ 220 2 440
J[EVXTIFEH 3& | 3F&
WZB@m ®i 30 3 90
SM[ERKIT S H 6%& | 6& £H ¥ 310 5 1,550
/K —E 1,660 1 1,660
32|22 8%& | 8&F -
AR EF 1,000 2 2,000
318| KREZEZ 2%& | 2%& Wzl ®Ht 20 3 60
#£H ¥ 120 1 120
319| KEZEZE (1) 2% | 2% .
WZB@A HKi 20 2 40
#£H ¥ 120 1 120
320| KR&EZERZF (AL D) 2% | 2&
WZB@A HKi 20 2 40

X1 EEUSOYGEITANSMEL,
X2 A BEREETESEITENIHDIE LICKYZEILELEREL =,
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